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Grey line: exponential fit

txt / MJID 53079.760737 / burstid=3173

\Peak flux: 0.453+/- 0.020 c/slcm’

Black line: power law + gauss fit Eluence : 2.73+/- 0.15 c/cm?

Dashed line: power law
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Duration: 8.48+/- 1.12s
Bést fit model: 1.
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Exponential fit
Expon. time: 2.09+/- 0.33 s (chi*red= 5.29)

:EHHH‘HHH\H‘H\ ‘

Time

[s]

= ;
- + +
- Tt it + yoot oy
S AL NI A RICR i t b, +t 0 T+ 0
= + -
- + T 3
; Power law fit é
E Power law index: -1.748+/- 0.095 (chi*-red= 6.64) =
3 | E
E T T Y b AT E
- T T f4 4t 1t
= ' + bt TR nE
i I T T T I I i
— Power law fit plus Gaussian (st.dev. ="t/ ek g, fracgs:ﬂ0.00+/- 0.00) =
- Power law index: 6.827+/- 0.771 (chi*red=-1.00) -
3 : E
= + 1t =
- o+ g ¥ Pty g
= b T T T + t, Tt
= + T SN NIG S S NURE S
=ty + + TR U T -
E | I | | I | I E
-40 20 0 20 40



